Non-Weighted Weighted

4.5

Log 10{Query Intensity)
lin-sca+kit+38+34-

L
=]

HonWeighted Weighted

@ Yisible 0.999 0.999

£t Selected NI NiA

Bg Present in Both 0.999 0.999

g E Present in Either 0.997 0.997

2 3 All(no failsicontrols) 0.969 0.969
P<=0.01

4.0
1
4.0

20 4.5

Log 10{Query Intensity)
lin-sca+kit+38+34-

Log 10{Query Intensity)
lin-sca+kit+38+34+

@ Visible 0.999 0.999
% Selected NiA NiA
B Present in Both 0.999 0.999
g E Present in Either 0.996 0.996
S 8 All(no failsicontrols) 0.962 0.962
P<=0.01
45
2, a0
7] +
55
E8
Y
£%
g% I
R
o £
=]
-
2.0 L 10
20 445
Log 10{Guery Intensity)
lin-sca+Kit+38-34+
Hon-Weighted Weighted
@ Visible 0.999 0.999
gz Selected Nif N
] ‘g Present in Both 0.999 0.999
2 E Present in Either 0.995 0.995
S 8 All{no failsicontrols) 0.961 0.961
P<=0.01
45
£, 40 -
= o
-
8
v
g%
= % —
g8
ge
= £
2=
-
20 L 0
20 45




